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BAOEcoCC1010
B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
ECONOMICS : P1 ELEMENTARY ECONOMICS -1(CORE)

o
Seat No : \/

170
Time: 2:30 Hours Marks: 7
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
WA claloted AR el wstautell caven At €d uuestel, (1¥)
vlycll
Ut oL wdl yradl igsd AR Bud osdl 52 B gl WA s,
yne et U ud siEdne(l ul s, (1%)
Yl
une  uiolell e At N2 g7 Aotl yslA vl ARt Annl.
uas  uedl dlMid Rl @i Wl Aetl wucélell wl 82L. (1%)
Ul
uss  Asucel wdai AR woldel wdawt dal (G ugae ua Al udawt sl
dgiad yundl. .
yay  uiolell e Al AR Hidtefl el detell dAsl dglelet Al Hiowell yex (%)
AR AR AUR 5l WRHAA A 532,
AUl
ysy ol Qell Geulgot Alttollotl clatel AL
(1) A%t (2) A
ysl U gselltl cull. (5l uRL &) (1Y)
(1) AUl ystl. (2) w5 g el [Aot-uulels yg(q.
(3) Hidot-yalslell [Aun. (4)c(Ro[Rletl ysRL.
ENGLISH VERSION
Q.1  Critically explain the definition of economics given by lionel Robbins. (14)
OR
Q.1  “Demand and supply jointly determine the price” Explain with a diagram.
Q.2  Discuss the nature and scope of economics. (14)
, OR
Q2  What s clasticity of demand? State it’s types with the help of figure.
Q.3 Explain the law of diminishing marginal Utility and discuss it’s exceptions. (14)
OR
Q.3 Explain in detail difference between micro economics and macro economics, Static economics
and dynamics and Dynamic Economics.
Q4 qive difference between price clasticity of demand and income clasticity of demand and (14)
discuss the factors affecting the price clasticity of demand.
OR
Q4  Discuss the following characteristics of production Resources.
(1) Entreprenuer (2) Labour
Q.5  Write short note: (any two) (14)
(1) Types of wealth. « (2) Economics — non economics activity.
(3) Law of Demand and supply. (4) Types of Utility.
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BAOEcoCC1020 Seat No :
B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
ECONOMICS : P2 INDIAN ECONOMY -1(CORE)

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
Wi el sladll si@etl [AuiRs uRuiaoll ual &3, (¥)
Y|
YR ARd ARsRell cirell olllQof yeisel 52,
YHR  [Qstamtel wddatol cadloll etrdoll deaiul ual 52, )
wYll
YR qcetell s YuRIRA Yeuise 53,
Y3 Rl ardl dtiRiatl sREN{l ul &3, (%)
UYdl
3 gl sl A A Aot Hiuotell QR Ut dHA A
Y elReHl oflRl Wt Geutesellott a0l Al 53, (1)
YL
YRY R AUBLEL olLe AL BlesHi wAel drstroll w53,
yi U gsell cull. (518 ueLd) (1¥)
(1) eReHl AN HEccl.
(2) etRetul slauofl siQell Hadet.
(3) GeLdlsReloll vaulet UHA.
(4) dellseiel vale uMenA.
ENGLISH VERSION
Q.1 Discuss the determining factors of the green revolution in India. (14)
Q.1 Evaluate the population policy of govemment%tl'{lndia. ,
Q2 Discuss in detail the characteristics of a developing economy with reference to India. (14)
Q2  Evaluate the economic reforms in 1991. o
Q.3 Discuss the reasons for population growth in India. (14)
Q3  Gave meaning to national income. Explain theczili{fferent methods of measurement its.
Q4 ~ Discuss the causes of low agriculture productivity in India. (14)
| Q4 Discuss the change in national income after ingeltaendence‘india.
Q5 Write short note: (any two) (14)

(1) Importance of agriculture sector in India.
(2) Limitations of Green Revolution.
(3) Explain then concept of liberalization.
(4) Explain the concept of globalization. _
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BAOEcoE21010
B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)

Seat No; 101360

ECONOMICS : P1 INTRODUCTION TO ECONOMICS -1(ELECTIVE-2)
Time: 2:30 Hours

Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
A ygd AR @et s Yg el dglelcd 2ure 52, (1¥)
uycal
YA et ¥3RaAA Aeel A ysid aeld,
yre sl W@ ¢? Aol sl Rl Ao Mt U 53, (a¥)
AU
AR ollQetl vAEA UHAA
(1) AURAY Ao GulEat (2) Hiot-yradl
v Yl Aol Aslawsioll catval 1@R qmendl, (X¥)
AUl
w3 el A Al MR AR el URUALA w53,
Yy [RAlwsel A wdl Aot ca@loll U 53, (X¥)
AYcll
yilY AU el seuRt dRed ojk U 53,
ys U ettt @il (5l Ul Q) (1Y)
(1) 3ot cetall.
(2) Hida [,
(3) Budt ua yeat,
(4) Hidietoll usfauioll cavel.
ENGLISH VERSION
Q.1  State the difference between economic activity and non-economic activity. (14)
OR
Q.1 Describe the characteristics and types of human needs.
Q2 What is the meaning of capital? State its importance and types. (14)
OR
Q2  Explain following concept.
(1) Consumption and production,
(2) Demand-supply.
Q3 Discuss the definition of Prof.Lionel Robbins in details. (14)
) OR
Q3  Givethe meaning of demand, describe the factors affecting demand.
Q4 Give the meaning of entrepreneur , Discuss its characteristics. . (14)
OR ‘
Q4 Sta?e the relation between wealth and welfare.
Q.5 Write short note: (any two) (14)
(1) Characteristics of Labour.
(2) Law of demand.
(3) Price and value.

(4) Definition of economics given by Prof. Marshall
**********************************
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BAOEcoE21020
B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)

ECONOMICS : P2 PROBLEMS OF INDIAN ECONOMY -1(ELECTIVE-2)

Seat No :

Time: 2:30 Hours Marks: 70
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.
yit  AUeU@sRA wddA ddld cuRdotl catoll A1, (1¥)
uucdl
g el @8z N2e@ Y7 ARdMl crell @Qflzoll sREA1 UMM A
yn? RNl Al gERe{l AUA UMM A (a¥)
'?J{%lCil
yse  elRcHl dRlodletl S0 Ml
ys3  Olell selaatetl Guill AxH Al (%)
;UL
ys3  wet oRll uA @A el umendl,
yaY  GRcHl AsElotl slRell AHMA, (2¥)
RETETT
yay  eRd 38R AsRl sataal cllet wolal aMesAl.
ys U gsolltl Gull. (518 uRL Q) (2¥)
(1) gt E20oj co(lseL 2,
(2) RdMl crellotl AcOlH wAdl $R8(RL.
(3) ARlelletl (A28
(4) dlstile] a3U.
ENGLISH VERSION
Q.1  Explain characteristics of India Economy as a underdeveloped country. (14)
Q.1  What is population explosion? Explain causes?)If{population explosion in India.
Q.2  Explain impacts of population growth in India. | (14)
Q.2 Explain causes of poverty in India. o
Q3 Explain remedies to Eliminating poverty. (14)
Q.3 . Explain relative poverty and absolute poverty.oR
Q4  Explain causes of Unemployment in India. (14)
Q4  Explain steps takeh by Government of India tc? rI:move Unemployment.
Q.S  Write short note: (any two) (14)

- (1) Give Classification of the countries of the world.

(2) Changes in population trends in India.
(3)Poverty Indicators.

(4) Nature of unemployment.
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B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)

SANSKRIT: P1 BRTUHARI: NITISHATAK (FOUNDATION CLASSICAL LANGUAGE)
Time: 2:30 Hours »

Marks: 70
Instructions:

1. All questions are compulsory.

2. Figures to the right indicate marks.

UH-ARY)  llAiniel] SleuR Q allef ey 59,

(0¢)
Que-1(A)  Translate any two of the following verses. 08
@) T Rrerg el g dear o0
foe=g Hferet Ao
EEs| I
Q) e fad @ & gl "
T Uf0Sq: F: Yar TUR: |
%’E qar- 99 ﬁ:
TIOT: BIFTHIHT |
@) eRvIERTdeET R 1o e g st
&R mua&ua?mmmsa:l
g U THTRiqHaE T¥aT g fmme
T o S ey el 26 et
(¥) G wald 3q e 7 vt
faenty e 7 9 gagpay dan)
W ydau wq SR
BTl el TN gl gaT I
WA ool NSy Q daed wnond), (%)
Que-1(B)  Explain with reference any two of the following : (06)
(®) faamyErl e fafura e
(R) Tdd T I~
®}) 79qg 4|
(¥) aR A HHO
Ugi-2 e Retl et (A2 U(Grct? ofly qu: (Q¥)
Que-2 Write critical not in detail on the lite of ‘l-ﬁfsﬁ: (14)
. WYdl/OR
Ugi-2 MRl slalef] [@rdd uRua w1): v
Que-2 Write detail not on the work of *-l'cfﬁ[’{:
U3-3 “fl(cielclse] Ysds sic ddld yetise 52, (1¥)
Que-3 Evaluate FfoIq®H as a Doy (14)
2{Yd|/OR
u8-3 e Retl 1oy (iRos) [@9elt [Qu1d) &4 «{ly quil,
Que-3 Write not Bhartuharie's thought about tate
UsL-y teRel] sicaell [@9) Aldirdz oil i), (1¥)
Que-4 Write not on the poetic style of the ‘-RE‘F{ (14)
{Yd|/OR
usl-y R efl(cetdsui s3d) uerset ueit [@8) oil quil
Que-4 Write note on Hifa=Ia® Swi=iwr|
Wal-y {1t iel) S15URl A UR selly qud), . Q¥)
Que-5 Write Short notes on any two of the following. (14)
(%) Heiof M&cd (Importance of welth)
® ﬁm&mﬁﬂiﬁﬁll
®) I
(%) Fwfewm
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BAOEngFC101A Seat No :

B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
COMPULSORY ENGLISH(FOUNDATION)

Time: 2:30 Hours
Instructions:
1. All questions are compulsory.
2. Figures to the right indicate marks.

Marks: 70

Que-1(A)

Que-1(B)

Que-2

Que-3(A)

Que-3(B)

Answer the following in one line or word: (Any Eight)

(1) What is the vision of the programme ‘Digital India’?

(2) What is the full form of ‘DeitY’?

(3) Who has written famous novels-‘Distant Drum and A Bend in the Ganges’?
(4) who is the owner in the story ‘Lemon-Yellow and Fig’?

(5) Which fictional town was created by R. K. Narayan for his literary works?
(6) what is the full name of the poet of the poem-‘Father returning Home’?

(7) Give the names of the some of the famous poems written by Robert Frost.
(8) what is the form of the poem-‘Stopping by the woods on a Snowy Evening’?
(9) When and where was W. H. Davies born?

(10) Who is in the centre of the poem-‘father returning Home’?

Answer the following questions in two-three lines: (Any Three)

(1) What does the poet mean by the word ‘care’?

(2) What, according to father, is the cause of Swami’s headache?

(3) Why is the new salesman satisfied with his job?

(4) What is e-Education?

Write short notes: (Any Two)

(1) The role of social media in bringing about a change.

(2) Father’s Help: A reflection of the inner psyche of a school-going child.
(3) The theme of the poem-Father Returning Home.

(4) Personification in the poem-‘Leisure’.

Fill in the blanks with appropriate articles:
(1)Man, thouart _____ wonderful animal.
(2) Frenchis_____easy language.

(3) Whichis _____longest river in India?
(4) Yesterday _____ European called at my office.
(5) We have _____ surprise for you.

(6) Ijustheard ___interesting story.

(7) Please give me _____ red hammer.
Identify the types of the following sentences:
(1) Dinosaurs lived millions of years ago.
(2) Would you like to have a cup of coffee?
(3) What big eyes you have!

(4) Show me the money.

(5) The ghee was in the fridge yesterday.

(6) When will we get our results declared?
(7) Shut up and leave the office immediately.
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Que-4(A)

Que-4(B)

Read the following passage carefully and answer the M.CQs given bel:::’l- i targt ey

Ram and Shyam lived in the same villege. While Shyam fo " ilies with many sons
shop in the villege, Ram was a poor farmer. Both had‘large ﬂ": bei o able o foed hi;
daughters-in-law and grandchildren. One fine day, Ram, 'tnred of noh ai certain to earn
family, decided to leave the village and move to the cnty» w}}ere ; wthe city, AL ight
enough to feed everyone. Along with his family, he left the‘v1llage or fare t'h could
they stopped under a large tree. There was a stream running nearby l\:’ o hi:ywife .
freshen up themselves. He told his sons to clear the area below the tree, he (;tmcd "
fetch water and he instructed his daughters-in-law to make up the fire and i cutling
wood from the tree himself. They didn’t know that in the branches of thfa tree, t ett: w;s a;
thief hiding he watched as Ram’s family worked together and alsp n°t1°ed“that cy ha
nothing to cook. Ram’s wife also thought the same and asked: her hus'band - , Everything fs
ready but what shall we eat?” Ram raised his hands to heaven and said “Don’t worry. He is
watching all this from above. He will help us.”

Questions:
(1) What did Shyam have in the village to earn his bread and butter?
(A) largest jewelry shop (B) Farm
(C) School (D) playground
(2) Who from the following were not the parts of the families of Ram and Shyam?
(A) Sons (B) Uncles and aunts
(C) Daughters-in-law (D) Grandchildren
(3) What did Ram ask to do his sons?
(A) To fetch water (B) Make up the fire
(C) Clear the area below the tree (D) Cut the tree for woods
(4) Who was hiding there in the branches of the tree?
(A) Ram ‘ (B) Shyam
(C) God (D) Thief _
(5) Which of the following words in the passage is used as the synonym of ‘to swallow’?
(A)Eat (B) Drink
(C) Go (D) Leave

(6) Who is ‘He” in this sentence — “Don’t worry. He is watching all this from above. He will
help us?”

(A) Shyam , (B) God
(C) Thief (D) None of these

Read the following passage and answer the short questions given below:

A sanctuary may. be defined as a place where Man is passive and the rest of Nature
active. Till quite recently, Nature had her own sanctuaries, where man either did not go at
all or only goes as a tool-using animal in comparatively small numbers. But now, in this
machinery age, there is no place left where man cannot g0 with overwhelming forces at his

command. He can strangle to death all the nobler wild life in the world to-day. To-morrow

he certainly will have done so, unless he exercises due foresight and self —control in the
mean time. There is not the slightest doubt that birds and mammals are now being killed off
much faster than they can breed. And it is always the larg

! est and noblest forms of life that
suffer most. The whales and elephants, lions and eagles, g0- The rats and flies, and all mean

parasites, remain. This is inevitable in certain cases. Civilized man begins by destroying the
very forms of wild life he learns to appreciate most when he becomes still more civilized.
The obvious remedy is to begin conservation at an earlier stage, when it is easier and better

in very way, by enforcing laws for close seasons, game preserves, the selective protection of
certain species, and sanctuaries.

Page 2 of 3
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Que-5(A)

Que-5(B)

Questions:

(1) What is the definition of a sanctuary given in the passage?
(2) What can humans do with their overwhelming forces?

(3) What does a civilized man do?

(4) What is the obvious remedy to save the wildlife?

Write a resume for the following: (Any One)
(1) For the post of an English lecturer in the Prime Arts College, Junagadh.

(2) For the post of a Computer Operator in a Jilla Seva Sadan, Veraval (Gir Somnath).

Study the following table and answer the questions given below:

Players Matches | Runs | Average
David Warner 10 | 647 71.88
Joe Root 11 | 556 61.77
Kane Williamson 10 578 82.57
RohitSharma | 09 | 648 | 81.00
Shakib AlHasan | 08 | 606 | 8657

Questions: _

(1) Who has played the maximum matches?

(2) Whose average is the highest one ambng all?

(3) How many runs scored by Williamsén?

(4) who has'sc0red- maximum runs in all his matches?

(5) Whose battmg average is the second lowest among all?

- (6) Give the total numbers of matches played by all the players mentnoned in the table.

(7) Give the total number of runs scored by all the players mentioned in the table.
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647510 BAOHiInFC101B Seat No:
B.A. Semester - 1 (CBCS) Examination
Oct/Nov. -2019 (NEW COURSE)
FOUNDATION HINDI: HINDI KAHANI SAHITY: KAHANI NAYI PURANI(FOUNDATION)
Time: 2:30 Hours Marks: 70
Instructions: :

1. All questions are compulsory.
2. Figures to the right indicate marks.

e fe<l e % Sgva v e @ g i) (3%)
3y

TH YO T i Ui 3d g TRer e Bl HUra S Tea! & iR

UHR M DAl P aw@l b YR W G S Her 3 ariten SR (3%)
3

VIR S 1 IR B e b 3 3n-RvTen 31 A1) o) s aftfa fean

¢ - Ty B |

WY ORI PRI & SMYR R T8 T afelieh] BTl ®¥)
3

UH3  PHWR P T FEF T TH-Ravuners ser 81 - Rig i

uHy  fewfoml fafey : e ) ®¥)

() "R HEH $T I

R) T B P e 7 el
(3) 'SITBIRIEIY’ B! BT ATATaRYT |

(¥) "TRET HET BT YR
Ty @)  feuof ford | (01)
WY IR T UHR
G|
GO : GRHTST Td GHR
WY@ Gead Do (o)
T H ERER 8, T & Sl oia
3ryar
TS W SO HT T FAwf g 1
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